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ring techniques prove helpful?
b. Digital image classification
d. Computing Image histogram

In which of the following cases the cluste
a. Digital image processing
¢. Digital Terrain Modelling

The ratio of two chi square variables is

a. t-distribution b. z-distribution

c. F-distribution d. None of the above

While tossing a coin once, the probability of appearing head is

a. 100% b. 1%

c. 50% d. 0%

If’ > means ‘—’, ‘—' means ‘+’, "+’ means ‘x" and ‘x” means '+, then 17>15-5x2+7>
a. 16 b. 18

¢ 20 di 22

Marks of five students in statistics are as 15,33,63,83,100;Find out the average marks
a. 68.8 b. 58.8

c. 50.8 d. 78.8

From the above marks find out the median

A 55 b. 63

c. 73 d. 43

In a multivariate regression analysis, which one of the following is true?
There are many dependent
variables
There are many independent
variables.

b. There is only one independent variable
d. There is ne independent variable.

If average deviation is 105, and mean is 210, then Coefficient of AD is,

as e 10 b. 0.5

c. .99 d. 0.7

If sample size is 20 for product A and 18 for product B, then degree of freedom will be,
a. 21&19 b. 17 & 19

c. 19&17 d. 16&17

Which is not a measure of central tendency

a. Weighted mean b. Variance

¢. Geomelric mean d. Arithmetic mean

25% of 25% of a quantity is x% of the quantity where x is

a. 625% b2 5%

c. 25% d. 50%

If ina certain language PUNCTUAL is coded as 16598623, how would ACTUPULN
be coded?

a. 834536 b. 29861635

c. 834530 d. 834539
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